
Série 1

(1) 120 ÷ 10

(2) 32 940 est-il divisible par 2 ? 

Expliquer.

(3) Calculer 33 × 21 en ligne avec 

deux étapes.



Série 2

(1) 120 ÷ 100

(2) 32 940 est-il divisible par 3 ? 

Expliquer.

(3) Calculer 23 × 21 en ligne avec 

deux étapes.



Série 3

(1) 120 ÷ 1 000

(2) 32 940 est-il divisible par 5 ? 

Expliquer.

(3) Calculer 45 × 21 en ligne avec 

deux étapes.



Série 4

(1) 12 ÷ 100

(2) 32 940 est-il divisible par 9 ? 

Expliquer.

(3) Calculer 35 × 21 en ligne avec 

deux étapes.


